T

neircle (00 r]T clr "solid" 1] appVersion(4)="0.99.7921.69

circle (clr, r):=

grid (rmax, rtick]: [ out clr]:=[0 "#FFOOFF6D" |
r
N:: max
rtick
for n€ [0..(N—1)]
rl = Tiox D
out a4l :=circle ("gray", rl)
for n€ [0,30..330]
T
T
line:=| "line" [0 0 rmaX-cos(n °) rmaX-sin(n °)] "gray" "solid" 1
out := stack(out , [ 1ine ]]
out :=stack | out, circle {"black", rmax]]]
[ out ]
labels [rmax, rtick] =|r=r 1.2

N:=12

out:=[r 0 "0°" 9]

for n€ [30,60..330]

text :Z[r~cos(n °)=r-0.05 r-sin(n °)4+r-0.05 concat(nusttr(n), "°") 9
out :=stack (out, text)

for n€ [O’rtick"rmax]

text ::[ 0 n var2str(n, 1) 9]

out :=stack (out, text)

out



[out N]::[O 30]
for k€ [1..(N+1)]
p:=(k —1)-4¢
r::l—l—COS((P)

outkl::r~COS(<p)
outh::r~sin(<P)
out
r=1+ cos(o)

grid (2, 0.5)
labels (2, 0.5)

[out N]:[O 30]

1'm
Np 1= ——
=y

for k€ [1-'(N+1)]
IR

outkl::r~COS(<p)

outh::r~sin(<P)

out

r = - cos(®) + sin(®)

120°

150°

180°\

grid (1.5, 0.5)
labels (1.5, 0.5)

3

[out N]::[ 0 30]
2:n+2
Qi=—

N

for k€ [1..(N+1)]

o:i=—2-n+(k—1)-4¢
r:=2-0

ou ::J."COS((»D)

t
k1

outh::r~sin(<P)

out

r:=—cos(¢)+sin(¢)

grid (10, 2)
labels (10, 2)

1= [out N]‘:[O 30]

1'm
A<p~——N

for k€ [1-'(N+1)]
(p::¥+(k—l)'ﬂ@
r::—COS((P)_Sin((p)

outkl::r~COS(<p)

outh::r~sin(<P)

out

r = - cos() - sin(p)

180°/

210°

240°
270°

grid (1.5, 0.5)
labels (1.5, 05.)

Ey



Fg:=][ out N]:=[0 100]

2+
ANp 1= ——
¢ N

for k€ [1..(N+1)]
<p::(k—l)~A§D
r::|sin(2~<p)|

outk l::r~cos(¢>)
outh::r~sin(<P)
out
r=|sin(2¢)|

grid (1, 0.2)
labels (1, 0.2)
F5

180°

s =|[ cut N]:=[0 100]

2-'m
ANp 1= ——
¢ N

for k€ [1..(N+1)]
<p::(k—l)~A§D
r: sin(3-<p)

i=r-cos(¢)

< <

o
k1

i=r-sin(¢)

o
k2
out

r=sin( 3:¢)

labels (1, 0.2)
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F,:=|[ out N]:=[0 200] Fg:=|[ out N]:=[0 360]
2-n 2-n
A@‘:T A<p::T
for k€ [1..(N+1)] for k€ [1..(N+1)]
p:=(k—1)-4¢ @:=(k—1)-d¢
r:=1+7-cos(5-¢) r:=2-0.5-sin(50-¢)

r::r—|-4-(sin(S'@)]Z+3‘(Sin(5'<p))4 z:rJr:c:oiZ(;:()(p)
1

out iI=r-cos k
k1 (¢)
out i=r-sin(¢)
out i=r-sin(¢) k2
k2
out
out
r=1+ 7-cos(5-9) + 4-sin2(5:¢) + 3:sin*(5-9) r =2 — %2-sin(50:9) + cos(7-¢)

90°

120° 60°

180°

270°

grid (10, 2) grid (4, 1)
labels(lo, 2) labels(4, 1)

7



